TNPSC CCSE - IV EXAM 2019 [01.09.19]
MENTAL ABILITY SOLUTION

1. The average height of 12 students in a class was calculated as 152 cm. On
verification it was found that one reading was wrongly recorded as 148 cm
instead of 172 cm. Find the correct mean height

A.150 cm B. 156 cm C. 158 cm D. 154 cm

QM  au@Uled 12 wrewialTseles  ggmgfl o wgd 152 GF.0 el
SeISHL UL Gl FiumTea@d Gurg 172 0F.16 s 14 Q5.5 6 HauBrsd
aBHFHIS CaTeTenlLl L HTH ST eubHH eleleo Fflwmer Fymaf o wigbd wrg?
A. 150 Q5.8 B. 156 Q&.15 C. 158 Q.18 D. 154 Q&.15
Explanation:

Difference =172 - 148 =24 cm

Average Difference = f—g =2

Correct Average =152 +2 =154 cm.

2. The difference of the squares of two positive numbers is 45. The square of
the smaller number is four times the larger number. Find the numbers

A.3and 15 B.9and 5 C.3and 16 D.9and 6
Breni® s elewidboeent alTHImIGMeT alSHHWTFD 45. Flul eTexiemnier 6UToHSHLD
oG  Ouflw  eTewiemwiledl  [BTIE LOLBISBESGHF WO 61660 DbFH  6T16016M60TSH

SBITE0TH

A. 3 ioBpid 15 B. 9 wBmb 5
C. 3 oBmib 16 D. 9 uoBmib 6
Explanation:

Trick: Solve from Option.

or

Let the two numbers be x and y such that y <x.
From the given conditions, we have:
x2-y2=45...(1)
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y2=4x ... (2)

Using (2) in (1), we have:

x2-4x-45=0

= (x-9)(x+5)=0

= x =9 (Rejecting the negative value of x)
From (2), we get, y =6 or -6

Rejecting the negative value, we have, y = 6.
Thus, the two numbers are 9 and 6.

3. The radius of a cart wheel is 35cm. How many revolution does it make in
travelling a distance of 154 m

A.70 B. 189 C.119 D. 86

TG uewigd FHEIHHGT QD 35 0515 g 154 15 OFHTenevs] &L HSHT6V,
DIFFEBID 1HBHME (PARFFBMISH6T SBBIUTHBESGLD?

A.70 B. 189 C.119 D. 86

Explanation:

22
Circumference of wheel = 1 Rotation= 27r =2x - x35=220cm

How many rotation = 154 m = 15400 cm

@ = 70Rotation

220

4. Saran is 6 times as old as his son Sankar. After 4 years, he will be 4 times as
old as his son. What are their present ages?
A.30,5 B. 36, 6 C. 48,8 D. 24,4

gyewt  eleileufledl  6uWIFH Hei  L0HeT  FhSMeT  auwenHIGUTeD 6 LM, 4
AUHLBIGET HPSHH Seufledl  euwigh 1bHeT  amSLICUTED 4  IDLMIG — 6T66L,
SlalTseler HBEUTEMHUI 6UUIG 616560 !

A.30,5 B. 36, 6 C.48,8 D.24,4

Explanation:

6X+4:ﬂ = 6X+4=4x+16
x+4 1

= 2x=12

= X=6
Sankar’s age = 6 years
Saran’s age = 36 years

5. Express 0.35 into fraction

A2 B. 2> C.3> LB
99 100 10 1000

0.35 GT60I3  GTGuiTen6u0T  LTGIGILDTE  LOTHB]
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o B. 2 C.3> D 2
99 100 10 1000
Explanation:

Trick: One decimal bar divide by 9
Two decimal bar divide by 99

Three decimal bar divide by 999.
35

0.35=0.353535353535....... = %
or
x=0353535
100x=35.3535
100x-x=35.3535-0353535
99x=35

_35

99

6. How many numbers are there between 200 and 300 which are exactly
divisible by 6, 8 and 9?7
A. one B. Two C. Three D. Four
20053 300630 GG 6, 8 LBMID 9 I CTEHIHETED  QUGHLIL HnlgUl
GTEITSHGIT 615 HENG O 61T6N601 7
A. @aIml B. &yewi®p C. capaimi D. mreig
Explanation:
LCM of (6, 8,9) =72
Between 200 and 300 divisible by 72 = 216 & 288
Ans: B. Two

7. A can do a piece of work in 20 days and B can do it in 30 days. How long
will they take to do the work together?
A. 10 days B. 12 days C. 11 days D. 20 days
A eauat g Caiemevenws 20 mHTU&6efed B etaiuam £18% Geuemevenus 30
BT S6Med GFUIg (WliuTTser. Seualmaurmd Caibal DieiCamevenuts GCFUiIg)
(WPIYSED 615HHMET BT H6IT HLEGHLD?

A. 10 pr_sei B. 12 mm e
C. 11 prser D. 20 mm sei
Explanation:

AxB _ 20x30 _12days

A+B 50

8. If 14 compositors can compose 70 pages of a book in 5 hours, how many
compositors will compose 100 pages of this book in 10 hours?
A.12 B. 10 C.8 D.7
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10.

11.

14 oFss GCariueiser, 5 wewl CEIHFL @ UHSEHH 70 LSHSHISMm6N
apliar. 10 wenll  CEyHHle, 100 USIEIBMENT (IPIRHH  THHWDT  DFHH
GamitliueuTaeT CxHemeu?

A.12 B. 10 C.8 D.7
Explanation:
MlDl _ MZDZ
Wl - WZ
14x5 M, x10 — M, =10
70 100

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months.
A. Rs. 600 B. Rs. 700 C. Rs. 800 D. Rs. 900

17,500 & 8% ey &isbd @M QUEHLID 6 ITHBIGEHHDSTET Hell el gl
HTCNTSH

A. (1600 B. 11700 C. 1800 D. 11900
Explanation:
P=7500 N=1 year 6 Months = 1= 2 years
3
7500x —x8
SI=—— 2 _900Rs
100

Cricket player Dhoni’s average in first 30 matches was 72 runs. After 31st
match, his average raise as 73 runs. How many runs did he make in 31st
match?

A. 100 B. 103 C.74 D. 108

a0l eyt GLmefufles (pdHed 30 Syl MisEhdHaTear Fymam UL (runs) 72
IRNBHMISBILILILIQHHESSH. 3leugl S Lb BoOLOUBB el Seumenrw gFyrafl
PULID 73 o5 o Wihdal eealed  3leugd L HH0 DT aBSHH(HbHD
PLLMBIGET (TUns) e1gHsHemet?

A. 100 B. 103 C.74 D. 108

Explanation:

Total Runs Scored in 30 Matches = 72x30 = 2160

Total Runs Scored in 31 Matches = 73x31=2263

Scored in 31st Match = 2263 - 2160 = 103 runs

153 B 135 c 351 D 315

2 84 2 48 48 2 428
. 315
gmieuflengulled e1(1DHIS 12'8
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12.

13.

14.

A 153 p 135 c 351 D315
2814 248 48 2 4 28

Explanation:

§=0.75 l=O.5 §=0.625

4 2 8

Ascending Order [Samllest to Greatest ]

153

2'8'4

In a T-20 Cricket match, Raju hit a “six” 10 times out of 50 balls he played. If a
ball was selected at random. Find the probability that he would not have hit
a “six”.

A 2 B. 2 c? D. 3

5 5 5 5

T-20 wlewL Oupgd Gumipuisd pgra 50 ubsismen eHTesTewIh 10  (Weds
“aum”  @ULEISMET gdBHITT. aUT aTHTOSTEHIL.  LUbHHB6eNeL @ LbHend
goauruity (wempuled GCHTHosbHGL Gurghl FHed DeuT “oum” QL LHISET
I(BHHTD60 EYHLILSBHTE HHLDSHBH6) 6163160

Al B2 cad D

5 5 5 5
Explanation:

50-10 40 4

. - N gl &

Required Probability 50 50 5

The maximum temperature in a city on 7 days of a certain week was 34.8°C,
38.5°C, 33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for
the week.

A.34.8°C B. 34.9°C C.34.7°C D. 35.2°C

R GPUILL anysHHed mBaEIHHear oFsU’F Geuliuplenso  34.8°C, 38.5°C,
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C o156 BnHaal. Sibd eaumysHer Fyraf
OeUlILIHlENeVENUIS HT6HTH

A.34.8°C B. 34.9°C C.34.7°C D. 35.2°C

Explanation:

Sumof Temperature  244.3
No.of Days 7

Required Average= =34.9°C

A group of 100 candidates have their average height 163.8 cm with
coefficient of variation 3.2. What is the standard deviation of their heights?
A.3.23 B. 4.91 C.5.24 D. 6.38

@ Gupaled 100 GuiT o _eienenT, SeuTHelar o wgmsele gl bFayraf 163.8
CF.15 1oBmIb TRUT (s 3.2  ealed, DUTHEHMLW  © UWIJHIS6T 6T
FHLLalevbEHmHH HT6NIH
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15.

16.

17.

18.

A.3.23 B. 4.91 c.5.24 D. 6.38
Explanation:

cV =Zx100
X
32=_ 7 4100 = o=1038x32_ 524 ..,
163.8 100 100

The present ages of Reena and Usha are 24 years and 36 years respectively
what was the ratio between the ages of Usha and Reena, 8 years ago?

A.7:4 B.6:5 C.2:3 D.4:7

feoorm LoBE@ID 2 agTalel SBCUTEHHW aUWIGHIH6T (LpemBBul 24 I(HLMIS6T LOBMBID
36 QUBLMIB6T oefled 8 uWIhBEHHEG (Pl 2 T  oBmID  FeworTeledr
aWGHIFHeer S elaereuTd EmHbI(HBHEGL?

A.7:4 B.6:5 C.2:3 d.4:7
Explanation:
Now Usha = 36 years Reena = 24 years
Before 8 years ago Usha = 28 Reens =16 years
@ = 3/ R A
16 4
A Yea Xt &
Simplicity 2) %3 x4”
. @)@
HOEO (2*)?x3* x4
A72 B. 92 c. 7t D. ol
9 7 9 7
2
(2') x3'x4® 20y x4? 22x42 64 _1
2 3 = 6.6 = =2
(33) x(22) 3P x2 3 9 9
The total surface area of cube is 384 m?2 Find the side of the cube
A.3m B.8m C.4m D.6m
QP(H BAEFFHTHH OTHEH alemerUrli] 384m?2 erafled DIH6I LIHHID 6lalal6Ta]?
A. 318 B. 8 1 C. 418 D. 6 18

fa’ =384 = a’=64= a=8m

Find the LCM of 3(a - 1), 2(a - 1), (a2-1)

A.(a+1)2(a+1) B.(a-1)2(a+1)
C.6(a-1)(a+1)2 D.6(a-1)2(a+1)
3(a-1), 2(a-1?%(a*-1) er WBFHH QUTHI OLBIG SIS
A. (a+D*(a+1) B. (a-1*(a+1)
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C. 6(a-D(a+1° D. 6(a-1)°(a+1)
Explanation:

LCMof3,2,1=6

LCM of (a-1), (a-1)% (at1)(a-1)= (a-1)%(a+1)
LCM=6(a-1)2(a+1)

19. Find the cube root of 1%
61 . . ) .
1a 60T (LpLILILG  CLPGULD  HIT60TEh
S 3 S 8
A. 8 B. 7 C. 4 D. >
Explanation:
,61_125
64 64

3/12_5 _>
64 4

20. The ratios of the respective heights and the respective radii of two cylinders

are1:2and 2 : 1 respectively. Then their respective volumes are in the ratio.

A.4:1 B.1:4 C.2:1 D.1:2

Breni® 2 (Hemendenel o wigmiber (pemmpGui 1 : 2 1oBBID SiUBIET SLImIG6IT
wosBCw 2 : 1 galul aldlshigelell(priler, DBl ST Sieme sele @l
A.4:1 B.1:4 c.2:1 d.1:2

Explanation:

L:r,=2:1 h:h,=1:2
arh o ozrth
4x1 : 1x2

2 1

21. At what rate of interest a sum of money doubles itself in 10 years in simple

interest?

R OFTmaswTaid SHaiallly (Wwopuled 10 aumLSHHD SILQluTe e aully
aiplb eleieiauTd BHmbsd Gouewi(BLd?

A.10% B. 20% C.50% d. 25%

Explanation:

R:[X_l}xlOO
N

Rz[z_l}xloOle%
10
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22. In a Geometric progression t; = g s t3= 1. Then the common ratio is

5

Al B.1 C.1 D.5

5 3
R QUMHBSHOBTLT  auflenguied tzzg LOBBILD tS:% aiadlle0  GLITE)
SIT6I015b

1 1
A = B. = C.1 D.5

5 3
Explanation:

Common Ratio= t—3 = 1x§ — l
t, 5 3 3

23. Ifa; =-1then find ay, a3 in a, = %1 ns1vneN

n+2
ALl p L il p A
4 20 4 20 4 20 4 20
al=-1 wBmb anz%,n>1VneN oTealled a,,a, HITewIH
+
S B L L c Vil s
4 20 4 20 4 20 4 20
Explanation:
3, =-1
a -1
a2: 2-1 :}i:—
2+2 4 4
a, = 4 :&:ﬂ:__l
3+2 5 5 20

24.  If 1+2+....4n = K then 13+23+....+n3 is equal to

A. K2 B. K3
C. @ D. (K+1)3
1+2+3+..+n=K aailed 1*+2°+...+n’ eiaiug
A K2 B. K C. @ D. (K +1)°
Explanation:

n(n+1)
1+2+3+.....+n= > =K
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25.
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The Common ratio of the G.P. amn, am, gm#n jg

A.am B.am C. an D.an
a"",a",a™" aeim CUHBGHHOHTLT euflenguller CUTEH al&HSHID
A.a" B.a" C. a" D. a™
Explanation:

a?ﬂ ; aﬂ’H—Tl ;
Common ratio is i = a" (or) o =4a




